LABELLING RIGHT ANGLES TRIANGLES
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TASK: In each of these triangles label the opposite, adjacent, hypotenuse

and the angle 6
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TASK: Use Pythagoras’ Theorem to complete this table of side ratios

Angle (6) opp adj opp
rounded to 1d.p hyp hyp adj
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TABLE OF SIDE RATIOS
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TASK: Using the table of side ratios, find the lettered sides and angles.
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TASK 1: Using the table of side ratios, find the lettered sides and angles.
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TRIGONOMETRIC RATIOS
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TASK
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WORKED EXAMPLE - TRIGONOMETRY - FINDING LENGTHS

Veronica has answered this question correctl

Find the length of x




WORKED EXAMPLE - TRIGONOMETRY - FINDING LENGTHS

Study the solution carefully and answer these questions. QO

How does Veronica know to use the sine ratio?

Veronica’s friend types 17(sin 40°) into their calculator and
gets the answer:
10.9 cm

Explain how they can tell they have made a mistake.

What if the question was:

10 cm

(a) Which trigonometric ratio would you use?

(b) What would your working look like?




WORKED EXAMPLE - TRIGONOMETRY - FINDING ANGLES

ordan has answered this question correctl

Find the length of x




WORKED EXAMPLE - TRIGONOMETRY - FINDING ANGLES

Study the solution carefully and answer these questions. O

How does Jordan know to use the tangent ratio?

Jordan’s friend has their calculator in the wrong mode.
They get an answer of 0.359.
Explain how they can tell they have a wrong answer.

What mode should their calculator be in?

How can they check this?

What keys should they press to put it in the correct mode?

What if the question was

10 cm

What would your first line of working look like?




TASK
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Label the triangle and find all the missing sides and angles




